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page 34, Exercise 2.5 (missing assumption):

Suppose that a is a (p × 1) vector and that A is a (p × p) symmetric matrix and prove that
∂a⊤x

∂x = a, ∂x⊤
Ax

∂x = 2Ax, and ∂2x⊤Ax
∂x∂x⊤ = ∂2Ax

∂x = 2A.

page 49, first unnumbered equation (three extra parentheses):

SX∗
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−1/2)
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−1/2

= D
−1/2 Var(X )D−1/2

= D
−1/2

SXD
−1/2

= RX .

page 110, first unnumbered equation (wrong order of multiplication):

∂

∂θ
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∂
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∫

t⊤(X ; θ)L(X ; θ)dX
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∂θ
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L(X ; θ)
∂t⊤

∂θ
dX +

∫

L(X ; θ)s(X ; θ)t⊤dX

= E

(

∂t⊤(X ; θ)

∂θ

)

+ E(s(X ; θ)t⊤(X ; θ))

page 114, exercise 7.3 (extra superscript in denominator):

f(x1, x2) =
1

θ2
1θ2x2

e
−

(

x1

θ1x2
+

x2

θ1θ2

)

, for x1, x2 > 0.

page 121, exercise 7.9, line −6, typing error in formula:

abs(ρ) >
√

3 − 5/5.99
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